1Z0Z ounr :eyse4 yoyuas|y epuebin ueulsH IS selajalle]) ap S0}09A0Id UOISIAIQ ojoJienD erousiol4 Bul
uojsed eusjepbely ‘Bul elueqeyd obaig uenr “bul seJajalien) ap sojoakold UOISIAIQ

BISAIIO elone ‘Bl
0L7dd : N eulwe :0j08foid pPepljei)A 9p |euoidoeN uoiddali

ZoWOoo) BUBIOT ‘S)pAy
Jejioies) ejjsuojuy "wiby "buj

SY2I19Nd SYH€0 A

: - eul DH_OCO INEETe A elljswiue otomww.w.__.c_o_\a
e L YIRS . . . 000+0c ~ 000+8) P I P 31HOdSNYHL 3a OIYILSININ ser
VTHHOND V1 3Ad 'OND -ZNIVS VSVO ONVHL OdOIN 'd 34d90S 62€ INM 91d 14dd SIAVHL V S - N AVAIAILOINOD 9 V1iNd

eyeLl N 0108A01d -uoIddalId :0j08A01d op uoisIniBdng

G9'891
L€°6G6+61

(%0°€-) 90°LEBABL
(%0°0:%0°¢f) 9G°608+6 |
A$o.,.$o.m4v 90'8k/+61

(%0°9:%0°9") 95'99.+61

?\oo.m”xo.mAv L¥'9€9+61,

00Ge vo0d |
Z OdlL OV
00Z+61 VYAIS34O0dd

219.00

L=130.15

R

27.00

(%0°0:%0°€
(%0°¢-) H
(%0°¢-) 06'LGGA6 )

(%0°0:%0"

009¢ v204 |
Z OdllL O
£8G+61 VAISINO0Md

ACORDAMIENTO
102.89m K

L=

L6'9SV+6L |

+25
148.61
300.00

19+400
L
R

AGORDAMIENTO
L=33.86m K=1(070.60
+25 +50 +75

19+300

ACORDAMIENTO
87.60m K=27.00
+50 +75

L=
19+200 +25

+75

+50

91'6¢1L+61

+50 +75 19+100 +25

+25

a\omvNAimo 6l

(%0°0:%0"
G0°£00+61

19+000
35.00

+75
L=

%0'9:%0'9") Zt"'£96+81

%0°9:%0°97) 1L8'GE6+81,

—0.60% en 72.04m
+50
L=31.61
R=219.00

+25
=35.00

L

18+900

69°068+81

69““ -
-
0
1.31m K
o
o
o
o
o
-
+50 +75

+25

“

W
)
)

27.00
18+800

+75

ACORDAMIENTO
125.83m K

+50

+25

(%0°¢-) :ﬁmﬁ gl

18+700

+75

Aﬁo.ougo.@’v 0L'¥99+81
8811 ] Ago.muxo.mf €8'715+8,

_—

GL°L0G+81

=1.39% SN 107.18m
+50

+25

16691
L1°019+81

18+600

L=149.27
=219.00

+75
R

+50

+25

(%0°N%0€Y) €€ Chr+81

18+500

(%0 eNGr6Lv48L 1
(%0°0:%0°€\ €Y/ LLV+8L g
(%0°0:%0°¢f) €N &

(%5 7%t v-) €9'gerael €

+75

21.00
+50

0.73% en 57.77m _

ACORDAMIENTO
=0.12m| K
+25
L=51.11
=600.00

L
18+400
R

0.73% en 84.08m
+75

(%0°0:%0°€N, G8'€Pe+81

£1°0LL (%0°¢-) gozreysl

Ov'9¢e+81

+Z88+33650

149% en 51430
18+300

€691
6¢°69¢+81

+75

+50

(%00°€-) 425781

27.08

18+536.40
ACORDAMIENTO
51.42m K=
18+200 +25
1.44r21.56m __ 21.56m

+75

+50
L=113.21
1000.00

—0.24% en 89.94m
R

=27[70
18+100 +25

+75

Tramo 18+000.00

(%0°0:%0°EY, £8°'690+8 1

ACORDAMIENTO

L=41.81m K
21.56m__21.56m.

+50

(%00°¢-) AN.?. gl

+25

18+000

J1vd3d

UOIODAS|]



AutoCAD SHX Text
PROGRESIVA 18+145 ALC TIPO Z 1 BOCA  500

AutoCAD SHX Text
PROGRESIVA 18+506 ALC TIPO Z 1 BOCA  500

AutoCAD SHX Text
PROGRESIVA 18+700 ALC TIPO Z 2 BOCAS  500

AutoCAD SHX Text
PROGRESIVA 19+007 ALC TIPO Z 1 BOCA  500

AutoCAD SHX Text
PROGRESIVA 19+293 ALC TIPO Z 1 BOCA  500

AutoCAD SHX Text
PROGRESIVA 19+587 ALC TIPO Z 1 BOCA  600

AutoCAD SHX Text
PROGRESIVA 19+700 ALC TIPO Z 1 BOCA  500


	Sheets and Views
	PPL10 18+000 - 20+000


